Answers

30+1=31
30+ 2 =32
30+ 3 =33
30 + ¢ = 34
30 +S5=3S§
30 +6 =36
30+7 =37
30+28=3%
30+ 9 =39

49 - 8 = 41
48 - 7 = 41
47 - 6 = g
46 — S = 4l
45 - 4 = 4
44 - 3 = 4]
43 - 2 = 4|
42 - 1= g
41 -0 = g
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Jane is correct. Children demonstrate how to take away the blocks
representing the ones and show there are no ones left therefore 2ero

would be used as a place holder and Jane would have so.

Children use base ten blocks to show 38 — 2 = 30 and S0 + 2 = S2.
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45 -5 =40 [
20+ 6 =26 ¢
40+ 8 =48 r
90 +9 =99 f

Answer: chequered flag

60 + 3 = 63
12-2=10
55-5=50
711-1=70
26-6 =20

590 -9 =50
54 - 4 = 50
37 -7 =30
80 +5 =288
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